
Mounting instructions
Montagevoorschrift
Instructions de montage
Montageanleitung
Guía de montaje
Istruzioni di montaggio
Instruções de montagem
Monteringsanvisning
Instrukcja montażu
Rekomendacii po ustanovke

Max.	 PFF 2420: 70 kg / 154 lbs
	 PFT 2515: 70 kg / 154 lbs
	 PFT 2520: 55 kg / 121 lbs

PFF 2420
PFT 2520

     PFF 2420	             PFT 2515	          PFT 2520

PFT 2515

WARNING

NO!

1

2

OK

A	 =	 4x	 Connection plate

B	 =	 8x	 DIN912 Hexagon socket 
			   head cap screw M8x50

C	 =	 1x	 Foot

D	 =	 1x	 Column left

E	 =	 1x	 Column right
	  
F	 =	 1x	 Cover stand high

G	 =	 2x	 ISO7380 Hex socket button
			   head screw M10x30

H	 =	 1x	 Intercolumn

I	 =	 1x	 Front plate
			 
J	 =	 1x	 Back plate

A	 =	 4x	 Connection plate

B	 =	 8x	 DIN912 Hexagon socket 
			   head cap screw M8x50

C	 =	 1x	 Foot

D	 =	 1x	 Column left

E	 =	 1x	 Column right
	  
F	 =	 1x	 Cover stand high

G	 =	 2x	 ISO7380 Hex socket button
			   head screw M10x30

H	 =	 1x	 Intercolumn

I	 =	 1x	 Front plate
			 
J	 =	 1x	 Back plate

OPTIONAL

Option

6

7

8 

9 

10 

11 

12 

5 Optional: PFB 34XX

PFF 2515

Lock

Lock

1 2

1

2

3

PFF 2420
PFT 2520

Optional
PFB 34XX
PVA 5050

1

2

3

4

PFF 2420

PFF 2420
PFT 2515
PFT 2520A B C D E F G H I J K L M N O P

Q R S T U V W X Y Z 1 2 3 4 5 6

7 8 9 10 1A 1B 2A 2B 3A 3B 4A 4B 5A 5B E1 E2

A B C D E F G H I J K L M N O P

Q R S T U V W X Y Z 1 2 3 4 5 6

7 8 9 10 1A 1B 2A 2B 3A 3B 4A 4B 5A 5B E1 E2

A B C D E F G H I J K L M N O P

Q R S T U V W X Y Z 1 2 3 4 5 6

7 8 9 10 1A 1B 2A 2B 3A 3B 4A 4B 5A 5B E1 E2

A B C D E F G H I J K L M N O P

Q R S T U V W X Y Z 1 2 3 4 5 6

7 8 9 10 1A 1B 2A 2B 3A 3B 4A 4B 5A 5B E1 E2

A B C D E F G H I J K L M N O P

Q R S T U V W X Y Z 1 2 3 4 5 6

7 8 9 10 1A 1B 2A 2B 3A 3B 4A 4B 5A 5B E1 E2

A B C D E F G H I J K L M N O P

Q R S T U V W X Y Z 1 2 3 4 5 6

7 8 9 10 1A 1B 2A 2B 3A 3B 4A 4B 5A 5B E1 E2

A B C D E F G H I J K L M N O P

Q R S T U V W X Y Z 1 2 3 4 5 6

7 8 9 10 1A 1B 2A 2B 3A 3B 4A 4B 5A 5B E1 E2

A B C D E F G H I J K L M N O P

Q R S T U V W X Y Z 1 2 3 4 5 6

7 8 9 10 1A 1B 2A 2B 3A 3B 4A 4B 5A 5B E1 E2

A B C D E F G H I J K L M N O P

Q R S T U V W X Y Z 1 2 3 4 5 6

7 8 9 10 1A 1B 2A 2B 3A 3B 4A 4B 5A 5B E1 E2

A B C D E F G H I J K L M N O P

Q R S T U V W X Y Z 1 2 3 4 5 6

7 8 9 10 1A 1B 2A 2B 3A 3B 4A 4B 5A 5B E1 E2

A B C D E F G H I J K L M N O P

Q R S T U V W X Y Z 1 2 3 4 5 6

7 8 9 10 1A 1B 2A 2B 3A 3B 4A 4B 5A 5B E1 E2

A B C D E F G H I J K L M N O P

Q R S T U V W X Y Z 1 2 3 4 5 6

7 8 9 10 1A 1B 2A 2B 3A 3B 4A 4B 5A 5B E1 E2

A B C D E F G H I J K L M N O P

Q R S T U V W X Y Z 1 2 3 4 5 6

7 8 9 10 1A 1B 2A 2B 3A 3B 4A 4B 5A 5B E1 E2 A B C D E F G H I J K L M N O P

Q R S T U V W X Y Z 1 2 3 4 5 6

7 8 9 10 1A 1B 2A 2B 3A 3B 4A 4B 5A 5B E1 E2

A B C D E F G H I J K L M N O P

Q R S T U V W X Y Z 1 2 3 4 5 6

7 8 9 10 1A 1B 2A 2B 3A 3B 4A 4B 5A 5B E1 E2

A B C D E F G H I J K L M N O P

Q R S T U V W X Y Z 1 2 3 4 5 6

7 8 9 10 1A 1B 2A 2B 3A 3B 4A 4B 5A 5B E1 E2

A B C D E F G H I J K L M N O P

Q R S T U V W X Y Z 1 2 3 4 5 6

7 8 9 10 1A 1B 2A 2B 3A 3B 4A 4B 5A 5B E1 E2

A B C D E F G H I J K L M N O P

Q R S T U V W X Y Z 1 2 3 4 5 6

7 8 9 10 1A 1B 2A 2B 3A 3B 4A 4B 5A 5B E1 E2

A B C D E F G H I J K L M N O P

Q R S T U V W X Y Z 1 2 3 4 5 6

7 8 9 10 1A 1B 2A 2B 3A 3B 4A 4B 5A 5B E1 E2

A B C D E F G H I J K L M N O P

Q R S T U V W X Y Z 1 2 3 4 5 6

7 8 9 10 1A 1B 2A 2B 3A 3B 4A 4B 5A 5B E1 E2

A B C D E F G H I J K L M N O P

Q R S T U V W X Y Z 1 2 3 4 5 6

7 8 9 10 1A 1B 2A 2B 3A 3B 4A 4B 5A 5B E1 E2

A B C D E F G H I J K L M N O P

Q R S T U V W X Y Z 1 2 3 4 5 6

7 8 9 10 1A 1B 2A 2B 3A 3B 4A 4B 5A 5B E1 E2

A B C D E F G H I J K L M N O P

Q R S T U V W X Y Z 1 2 3 4 5 6

7 8 9 10 1A 1B 2A 2B 3A 3B 4A 4B 5A 5B E1 E2

A B C D E F G H I J K L M N O P

Q R S T U V W X Y Z 1 2 3 4 5 6

7 8 9 10 1A 1B 2A 2B 3A 3B 4A 4B 5A 5B E1 E2

A B C D E F G H I J K L M N O P

Q R S T U V W X Y Z 1 2 3 4 5 6

7 8 9 10 1A 1B 2A 2B 3A 3B 4A 4B 5A 5B E1 E2

A B C D E F G H I J K L M N O P

Q R S T U V W X Y Z 1 2 3 4 5 6

7 8 9 10 1A 1B 2A 2B 3A 3B 4A 4B 5A 5B E1 E2

A B C D E F G H I J K L M N O P

Q R S T U V W X Y Z 1 2 3 4 5 6

7 8 9 10 1A 1B 2A 2B 3A 3B 4A 4B 5A 5B E1 E2

A B C D E F G H I J K L M N O P

Q R S T U V W X Y Z 1 2 3 4 5 6

7 8 9 10 1A 1B 2A 2B 3A 3B 4A 4B 5A 5B E1 E2A B C D E F G H I J K L M N O P

Q R S T U V W X Y Z 1 2 3 4 5 6

7 8 9 10 1A 1B 2A 2B 3A 3B 4A 4B 5A 5B E1 E2

A B C D E F G H I J K L M N O P

Q R S T U V W X Y Z 1 2 3 4 5 6

7 8 9 10 1A 1B 2A 2B 3A 3B 4A 4B 5A 5B E1 E2

MOUIN_PFF2420_PFT2515_PFT2520_V02

WARNING for PFT 2515

NO!OK
+ PFS 32xx + PFS 33xx

+ PFS 35xx


